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Question Number : 81 Question Id : 4509386801 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Find the dimension formula of % in the equation F = ay/x + bt2. where F is a force. x is distance

and 715 time.
F = ayx + bt? &% SDE6H0S F 9050 267, r 8HSO SEro), f 89056
SRR AW, 2 Gl e raer

Options :
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Question Number : 82 Question Id : 4509386802 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The relation between time ‘t’ and displacement ‘¥’ is t = ax® 4 fx where @ and f are constants.
If ‘v’ 1s the velocity. the retardation is

FRZ070 ¥ SO0 TOD ‘¢ © DEE HODOTR), BO DSBS,

t= ax? + Br. Q0GOS a, f &) VTOFEN. el v’ NS, 20066 S5 0S?
Options :
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Question Number : 83 Question Id : 4509386803 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If two stones are projected at angle ‘6" and (90 — ) respectively with horizontal with a speed of

20 ms™". If second stone rises 10 m higher than the first stone, then the angle of projection ‘6" is

(acceleration due to gravity = 10 ms™2)

30ch Ty 20ms™ SK0S § ez 67 HOAAW (90 — ) FeaNOS AT
D3 208, BOch Tro0 R TR $0T) 10m (10 K ANEB, |8 2) S0
‘9" e (MHthed ¢e5 5080 = 10 ms™2)

Options :

45°
1. %



30°

2. ¢

60°
3. %

20°
4. %

Question Number : 84 Question Id : 4509386804 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A particle revolving in a circular path travels the first half of the circumference in 4 s and the next

half n 2 s. What is its average angular velocity?

S9TSE 3o HODAS) 2.8 $0 IBE OPSITY 4 s Sed e

W, 5 W, e
99T 25 O |DOFE N, T ST T30k S0 Aoes?

Options :

4“79 rad/s

1. %

/e rad/s
2. %

2”;’3 rad/s
3 %

/5 rad/s
4.



Question Number : 85 Question Id : 4509386805 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Ablock of metal 2 kg is in rest on a smooth plane. It 1s striked by a jet releasing water of 1 kgs™

at a speed of 5 ms ™., then the acceleration of the block is

2 kg |5595073 1100 2.8 S'ar B HILBR Dk @&’)% )0 30 V0T 08, TR
1kgs™L Bened 5 ms™! SH0S AR 05 TRSQONS e &?1)6?35 $A ¢ s05¢00.

Options :

2 ms™?

2.5 ms ™2

0.25 ms™2

50 ms 2
4. %

Question Number : 86 Question Id : 4509386806 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

An insect is crawling in a hemi-spherical bowl of radius ‘R’ If the coefficient of friction between

the msect and bowl 1s ‘t’. then the maximum height to which the msect can crawl the bowl 1s
TG0 R e of forsd MBS of §0%0 [P0, FPSL, oA
§6)508 g aden 1heato W wand, 8 M S §6%0 FEIOT 1B Ny

Options :
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Question Number : 87 Question Id : 4509386807 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Two objects having masses 1:4 ratio are at rest. When both of them are subjected to same force
separately. they achieved same kinetic energy during times t; and t, respectively. Then ratio of t—z
1
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Options :
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Question Number : 88 Question Id : 4509386808 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An object of mass ‘m’ 1s projected with an mitial velocity ‘v’ with an angle of ‘6 with the

horizontal. The average power delivered by gravity i reaching the highest point.

w (535078 10 2.8 SVYD W SO Fod § BE 0 Fea0 TR [HE N0
Trdy. @8 @ H0 SR TEHEIGS He s 80T GIRIODES
T8 D507

Options :

mgu sin? 0

2
1. %
mu? sin® B
2g
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mg sin 0
2u

mgu sin 0

2
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Question Number : 89 Question Id : 4509386809 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A small disc 15 on the top of a smooth hemisphere of radius ‘R'. The smallest horizontal velocity 'V’

that should be imparted to the disc so that disc leaves the hemisphere surface without sliding down

is (there 1s no friction)

R aP5r0ein 110 SDR)A EiEain DGR DY HFga) SO, B8 DF o)

220590¢5, &G0 OO T¢I A 97 )30 @& 953283 § 8% roeh

S0 v Densd (e weren Be)

Options :

V=,g’R
1. %

V= 1‘_,"ZgR
2. #

V=g
3.v



Question Number : 90 Question Id : 4509386810 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Ablock (P) 1s rotating in contact with the vertical wall of a rotor as shown in figures 4, B, C. The

relation between angular velocities wy, wg & w so that block does not shde down.

(Ry < Rg < R radii)

2,8 625 Qe (72650 S5 o] (P) (50650 TOKE)YEY A B,C xS
SrIRAN0. By 80658 850w GodEAE SEH0D S wy, wg & wg © DE
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Options :

f-r_}ﬁ < f-l'_]‘B = {UC

1. %

{,L}A — f-I'J‘E - {UC
2. %

f-I'J'C < (-LJ'B < 0..:'&
3. ¢

wWe = wy + wg



Question Number : 91 Question Id : 4509386811 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A horizontal board is performing simple harmonic oscillations horizontally with an amplitude

0.3 m and a period of 4 s. The minimum coefficient of friction between a heavy body placed on

the board if the body 1s not to slip 1s.

§ 82 NSroBEOM &53) 28 B G % BoTen 280, & EoTe
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Options :

p=0.05
1. %

= 0075
2. %
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3. %

n=1.14
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Question Number : 92 Question Id : 4509386812 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A test tube of mass 6 g and uniform area of cross section 10 em? s floating in water vertically
when 10 g of mercury 1s in the bottom. The tube 15 depressed by a small amount and then released.

Theline pesiod el oscilldionts Dlecelamiion ducinmavity = 10ms )

FEOSTDE (563077 6 S0O0M TPE NOITIS FTO0 10 em? & FSESTDE
ABS DS Toderds 9% 1808 arfoS 10g DEE0 DHABIO. &
THED NS FOT0 A0 T HOOL % o 36 BEINT BO5O BIEI

50 (Hded § ¢ 5080 = 10ms™)
Options:

0.75s
05s

0.25s
3.v

0.85s

Question Number : 93 Question Id : 4509386813 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
. . . W L
What 1s the height from the surface of earth. where acceleration due to gravity will be 7 of that of

the earth? (Re = 6400 km)
A7) GA0BO0 DHOD OB JeF Fand) I HDEBE & e e,

A &) sm;sé*%@m? (Re = 6400 k)

Options :



6400 km

1. ¢

3200 km
2. %

1600 km
3. %

640 km
4. %

Question Number : 94 Question Id : 4509386814 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Depth of a river is 100 m. Magnitude of compressibility of the water is 0.5 X 107° N"'m? . The

fractional compression in water a the bottom of the river 1s

(Accelaration due to gravity = 10 ms™2)

2,8 56 Sy 100 m. D3 H0DCEsS 0.5 X 1070 Nlm?. 008 36 @i He) O3

9078 030 (H5E ¢ b tBEasN = 10 ms ™)

Options :

0.9 x 103
1. %

0.5 % 1072
2. ¢

210 @



13 »x 102

Question Number : 95 Question Id : 4509386815 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Two mercury drops. each with same radius r. merged to form a bigger drop. T 1s the surface tension

of mercury. then the surface energy of bigger drop is given by

r ey o Boch OGN Dothdod 0, a8 QDo
DT ENTONDAND. FEEN0 TuE) dercddsed T @ons, J3)BS DG Doty
OWRIAL 8 (surface energy)

Options :

2mr2T
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2nr2T2

28/3 qp2T

Question Number : 96 Question Id : 4509386816 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The absorption coefficient value of a perfect black body 1s
HBIF B9 D) B0E} 35169 D% (absorption coefficient) e
Options :

Zero

4.v

Question Number : 97 Question Id : 4509386817 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A certain volume of a gas at 300 K expands adiabatically until its volume is doubled. The resultant

fall in temperature of the gas is nearly (The ratio of the specific heats of the gas = 1.5)
300K &6 98 508 5005 I0aimeaa0 (1) 2.8 P00 WO (2 §0% & 507 o)
I5TEID 2 TEY oSt 355005 TAHRASE. ©aNS roie) GBS
SIHEE) T (F0IN) DGR A )& = 1.5)

Options :

1@ 88 K
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67 K

5S4 K

Question Number : 98 Question Id : 4509386818 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The efficiency of a Carnot’s engine is 25%. when the temperature of sink is 300 K. The increase in

the temperature of source required for the efficiency to become 50% s

2,8 5°0), 0D0|een T, eberIaDo Safieh 300 K &ed)e))ch T (556 25%.

TR 8 e 50% $) DOLDE, GalA0N0 GBS @Id0ah; DD

Options :
225 K
1. %
400 K
2. %
3 200K
100 K
4. ®

Question Number : 99 Question Id : 4509386819 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When 100 J of heat is supplied to a gas, the increase in the internal energy of the gas 15 60 J. Then
the gas 1s/can

2,8 POINHK 100 T B0 DEIT T, PN @906 385 DK 607,

€900 & TONe)
Options :

be triatomic or diatomic gas

(€30G5 E B O 5B ITNE °OINY)

1. %

Triatomic gas

(€385 E A0

Monoatomic gas

DEHBATENE AN
3.

Diatomic gas

& §DBATPENE TPAIN )

Question Number : 100 Question Id : 4509386820 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An ideal gas is kept in a cylinder of volume 3 m? at a pressure of 3 X 10° Pa. The energy of the

gas 1s

2,8 BG8IPANY 3m® DIIBITFR0 o VBED & 3x105Pa DAV 5O

GOAB0R. & Fokna) 35

Options :



13.5 X 10°]

1. %

1.35 X 10° ]
2. ®

13.5 X 10°]
3.v

135 x 109
4, %

Question Number : 101 Question Id : 4509386821 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A pipe with 30 cm Length is open at both ends. Which harmonic mode of the pipe resonates a 1.65

kHz source? (Velocity of sound in air =330 ms™?)

30 em &¥¢a)) 0y 2,8 Q0 Boch Fayer BIHR0E. FEO TRV & @D 380 1.65
KHz SFe3259950 (10 33508 @90 &0tnod. (PO ¢3¢ Ftfoin =330 ms™)
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Question Number : 102 Question Id : 4509386822 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An object 1s placed at a distance of 18 cm 1 front of a mirror. If the image 1s formed at a distance

of 4 cm on the other side. then focal length. nature of the mirror and nature of image are respectively

2,8 G6)ErE 00D 18em ArB0S S GO, A (DBo0
8)ETE BOE By 4 em ErdoeS D )E00. @@ & 8 7250880, (8

2 52730 B0 (2e32)02) @) §2FaFeN T

Options :

3.14 cm. concave mirror and real image

3.14 cm, 2)Ers°S 58820 8 D23 |He3I020

1. %
3.14 cm. convex mirror and real image
3.14 cm, 500275°8 5SIE30 DOAW A2 (De32)0D0
2. %
5.14 cm. convex mirror and virtual image
, o Sl4om, 500275°¢ 38 )220 DB TS (0320200

5.14 cm. concave mirror and virtual image

5.14 cm, o35S 3G 1820 B8O TS (D300



Question Number : 103 Question Id : 4509386823 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If a microscope 1s placed in air. the minimum separation of two objects seen as distinct 1s 6 um. If

the same 1s placed in a medium of refractive index 1.5. then the minimum separation of the two

objects to see as distinet is

28 DEWD (P8 800) D TS G0N, Toh SPHOD D)

RN KR0S PSS &0 1 AN P80 6 pm. T JT°)Ened

15 82558 heso Ko airstod GodSHD FEA NAET HiodEas

T35 &0 109 8 &rdo

Options :

4 nm
1.¢

6 pm

3 um

9 pm

Question Number : 104 Question Id : 4509386824 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Three pomt charges +4,42q and 4 4q are placed along a straight line such that the charge
+2q lies at equidistant from the other two charges. The ratio of the net electrostatic force on charges

+gand +4q1s
P DO BITO +g, +29 HOA + 4q 28 N0 T oG, +2¢ SSF0 WA
B0t E3FO HOB 3D ErE0S GOMNEY GODDATON. +q DO +4q

SFTOR S VO DS DO A )

Options :

Question Number : 105 Question Id : 4509386825 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Three parallel plate capacitors of capacitances 4 uF, 6 uF and 12 pF are first connected in series

and then in parallel. The ratio of the effective capacitances in the two cases is

4 1F, 6 uF OO 12 uF SFABR) €0 (10 P NIroSd H0e Tt
G FHSD Shared SAr0SEOmD Lenandaron. & Bod HodTOS
2528 TIRBR) © )

Options :
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4:9
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Question Number : 106 Question Id : 4509386826 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A particle of mass 2 g and charge 6 jiC 1s accelerated from rest through a potential difference of

60 V. The speed acquired by the particle is

28 (595073 DA 6 € SHF0 (i) 2,8 ST ATHH Ve N0 60V FVVHO

B0 ¢ 56600 TFE. §690 SP0AS H6

Options:

0.6 ms™1
1.4

1.2ms™ !

1.8ms™ !



0.3ms?

Question Number : 107 Question Id : 4509386827 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A straight wire of resistance R 1s bent in the shape of a square. A cell of emf 12V is connected

between two adjacent corners of the square. The potential difference across any diagonal of the

square 1s

R G0 He) 2.8 B:5) 3 DESRISE0S HOAAIO. emf 12V 1 2.8 0Er)

DRE00 o (HEE o) 3T ahicds SO, HEEN0 B §G0 Toch

3T D5 FBAHS T30

Options :

8V
1.

18V

6V

12V

Question Number : 108 Question Id : 4509386828 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the given circuit, if the potential at pomt B 1s 24 V, the potential at point 4 1s

335088 SO0H0S Do BS FHVHS 24V, @ond Doy 4 ¢
NEA O
10 12V
A —\N\, e oB
AE WA
6V 20
Options :
—48V
1. %
—24V
2.
=12V
3. %
—144V

Question Number : 109 Question Id : 4509386829 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two long straight parallel conductors A and B carrying currents 4.5 A and 8 A respectively are
separated by 25 cm i air. The resultant magnetic field at a point which 1s at a distance of 15 cm

from conductor A and 20 cm from conductor B 1s

HHAT 45 A HOOW 8A NS (DFFOD $OR €d) Boch PBEI B
SATOBE TN A OO B TOS 25 em SRE0S 36 Dohad YD .
FP80 A 0B 15 cm OO FeFE0 B DO 20 em TGOS (16 2,8 DO S5
HO N0 (&

Options :

2% 107N
2 X10™%N

107> N
3. v

107*N

Question Number : 110 Question Id : 4509386830 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two concentric thin circular rings of radit 50 cm and 40 cm. each carry a current of 3.5 A m opposite
directions. If the two rings are coplanar. the net magnetic field due to the two rings at their centre
15

TSPTEN 50 cm OO 40 em K6 TOK 8 TO[E) M)A YT 08T , (6
TS 3.5 A DS DT S50 AfeS OR Garyow. Bodh Soderen

By

D008 &0, Boch 086 S0 are3 $01890 S5¢ EG ohr, 06 3|50
Options :

11 X 10777
1.¢

22 X 107°T

17 wmadg

g w30 1T
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Question Number : 111 Question Id : 4509386831 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At a place where the magnitude of the earth’s magnetic field is 4 X 107 T. a short bar magnet is
placed with its axis perpendicular to the earth’s magnetic field direction, If the resultant magnetic
field at a point at a distance of 40 cm from the centre of the magnet on the normal bisector of the

magnet 1s inclined at 45° with the earth’s field. then the magnetic moment of the magnet 1s

AP @oDRTR08 I(h NP0 4 X 10°T o ¥ [DR10 5O |, a8 &Y
BOTODRTL00D 25 0D 06 S (¢ ¥ OO0 GOTTE). ODTL00
35655 DO H0G ©ANRTL0S ©02) DDA OGS T D 40 em ErG0S 0
HotHeY) G DO @O0 TS0, 25T D0 F|S0S 45° FRo T,
90008 (27050

Options :

38.4 Am?

12.8 Am?

25.6 Am?
4.9

Question Number : 112 Question Id : 4509386832 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The ratio of the number of turns per unit length of two solenoids A and B 1s 1:3 and the lengths of

A and B are in the ratio 1:2. If the two solenoids have same cross sectional area. the ratio of the self

mnductances of the solenoids A and B 15

A B0 B FOTONE © 508 o) (0 0 H0DIO A 1:3, A B0
B © PChe® ) 1:2. 30CH FPOTONGE © DB BTN QaTI0 BONS,
ASHBON B FOTONE © 000 (DS 50 e

Options :

112

1:6

1:18%
3.¢¥

1:9

Question Number : 113 Question Id : 4509386833 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An inductor and a resistor are connected in series to an ac source of voltage
. T i . i . T
144 sin (10011’[ ¥ E) Volt. If the current in the circuit is 6 Sin (10 Ont + E) ampere, then the

resistance of the resistor 1s

2,8 050 SHO0K 2.8 ABGE0 144 sin (100:11 + E) STE Ko 2.8 ac 288 (FEFS

S0NAT. JOHOSR IS [HTTO 651'11(100r[t+9 ampere €00

DBES0 Gy DO
Options :
24 ()
1. %
36 ()
2. %
12 O
3.¥
18 Q)
4, %

Question Number : 114 Question Id : 4509386834 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Inner shell electrons in atoms moving from one energy level to another lower energy level produce

HESPENHOS'R @06E S8 ITOS R JO|FHO 25 8 Fraw 0B T 650y
38 w8 N0[EEI0 TOKB0 S0 tieh )& endhga)
Options :

1. %



Gamma rays

Ml 88eamen

Microwaves

D8 edBomen
2. %
Radio waves
- D &O3T edsormen
Ultraviolet rays
&3 e) S oyeh &egren
4.

Question Number : 115 Question Id : 4509386835 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the kinetic energy of a particle 1 motion is decreased by 36%, the mcrease m de Broglie

wavelength of the particle 1s
BOS0S €5) 28 860 HB235 36% o, Seao By & 157 o Tsod
RONA

Options :

18%
1. ®

25%
2. ¢



20%

32%

Question Number : 116 Question Id : 4509386836 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The speed of the electron is a hydrogen atom in the n = 3 level 1s

(Plank constant = 6.6 X 10734]s)

B2 AESTENIS 1 =3 TS DTN JG (Y05 VT0E0 = 6.6 % 10734 s)
Options :

6.2 x 10° ms™!

1. %

3.7 x10° ms™ !
2. ®

7.3 10° ms™ !
3. v

1.6 X 10° ms™1
4. %

Question Number : 117 Question Id : 4509386837 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



One mole of radium has an activity of ;1{110 curie, Its decay constant is
(Avagadro number = 6 X 10% mol ™)
1 ¢ S
2.8 376 Bioho 85§ 1805 AR $OR 00, eond ) § o Vorodo

9T 0DE =6 X 102 mol ™!
(8T §

Options :

1
S 10718 g
6

1.4

10—1{} S_l
10—11 S_l

107851

Question Number : 118 Question Id : 4509386838 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The voltage gain and current gain of a transistor amplifier in common emutter configuration are

respectively 150 and 50. If the resistance m the base circuit is 850 Q. then the resistance m the

collector circuit 1s

G010 SIS DTEN0S A 28 (EFIND S50 STE HOAN eSS [T
SCDEN SEDT 150 HBAM 50. BEFE SHOHOS A ABEO 850 @ AN DEGES
S0H0S R AFE0



Options :

1700 Q
1. %

2250 Q
2. %

2550 ©2
3. %

3000 &
4. %

Question Number : 119 Question Id : 4509386839 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the energy gap of a substance is 5.4 eV, then the substance is

2,8 D0 45 906530 5.4 eV @ond &8 Hrdo

Options :
Insulator
200550

1.+
Conductor

T80
2

p-tyvpe semiconductor

p-380 @3 57380
3. %



n-type semiconductor

n-850 @Q 5°*50

Question Number : 120 Question Id : 4509386840 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In amplitude modulation. the amplitude of the carrier wave is 10 V and the amplitude of one of the

side bands 15 2 V. Then the modulation index 13

B HBDS SrEpBAS TrE $80( Eeed HBME 10 V B0 2.8 78t HE3
B0 DB 2 V. 90N ST BAN A7)

Options :

0.4
1.+
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If uncertainty m position and momentum of an electron are equal. then uncertainty m ifs velocity

15
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